Opti 501

Solutions

Problem 24)

a)

b

¥

T

o

—;I
E'=o

=

(]

>iHo-—ﬂ&1

~ 2 = = AT of ) X
’m""'é"*r d"’:n& Ao X +1, @83 gw/d'ﬁzﬂflh-"ﬂx— é(w;-quzﬁ-é
—_ e

=0 =2 ?:55'-"5

u—{__.-"""“

E =0 =0,

n, S g;”._

A A A A
= (n A0 x-nGe] )X (GX+E7+ E3)= NGeE X -

65-_-

z p o i 4

#CI=n" = +NGr &

) - nFale

& T =D NA-EE =N ee & D

A A A e 9
BE )Y +NACE S =nGhE X =N, (Aslmb + lnB)E I+ ABE |

A

@s;,x"- S g §inb.06 3




2/5

No. 937 811E

@ STAEDTLER® _

)

ngineer's Computation Pad

P+ ———— s (Fr - =
“r I/é—( )—naz,ﬁ_zg. » o Vé'(u)-npzig;z‘g_)gx @

N, Vewr-n*Ats - €)Gaa

n, VEw) —n2A20 + &) Gr &

)J Eyt g,
He+H =1 D Nnee € - n 8 = Vewrniate (E35") =

(ﬂa&gﬂ-,lgwb—n}mzﬁ )Ef = [i’L lor & + @—n,z,ﬂ}ﬂ ) E?'! =)
e f
Ey

. & Nlor 2 —~ fé’(w]-—-!’]pz/.légﬂ
= -
Ey n, ler B + ) €y~

—
—

=y

e J-”_. N, N & ;f..l/{:é_(w:-n"mfg)u'é () 1 =0 a-0 +vq )
) = ¢ R -] I J o X - S 3 5

1]

Oqu'ong 0;,_ Mﬂu—é (““J‘:" & x ﬂwémphﬁwJ "'0 5 ond
0'5”«‘% U onky Crmperd of ¢ Kt Com ﬁ;mé/; y S MM;}%
Pat. Fen Hw, /)x.a.a.w.,wa&m JJM,ZZ;,J euf.,i MJM,}P—H jl‘

Tt ﬁj/J—a&éLAAM\Af 31-7’:04{6 (w) £0 0:-"},&..9;. é’(w) It



Mansuripur
Text Box
2/5


1 3/5

Engineer's Computation Pad

# No.937 B11E

2 STAEDTLER

)

\

ﬁrs}'mu s meduwn 2y ol Ha -gyU‘M 'éu—j Rarsgtf

& aésmrm BRESEY Y, 1R beels nfbitd Ly
BT s B Ao WF o 2Tt L iy Bt St

o Mre Ao lmd preoleen (‘L(dty/.l ucf:m/,ujly W“&_an M,w_&lz-.t(“u ah

M&Wﬂ 5 y
i CR AT P t) ey MO Sl (A G Pt
E(*}ﬂ:é': ez rc):é'e ol "y (% Ge3-ct)
The W delon) Aochn o dus Cxp (4, %‘Ij)-_-ap(z:rj‘:g/,\,)
‘M'p@ d.f;ez(”m‘?& W!M He e oo of by
w F‘"Mbﬁm:wd”, A; =Ac/{2n%;)

—

£) We ane s formulic for KS(FO Y dormed i Priflom 3 aluwe,

— oy A S
Heax d. = N, A £ x -'f?ei/(f-‘,z‘”)—- n2alte)+ 1 Eple) 3 0

—

T

v ”

A = A A 7 A
= Im/fggfwj_hczm?,&)+(‘£xtu‘ g 3 ﬂnﬁ/é = E;( X+Ey J+Eg3; ﬁJLJJ-L

"

Eyg = E-r'r‘E-y,: (l+l’;j E}

V n,,_.d«-'-é’— g C FAN

B;’r_ (141,) £ F (L:e Padt(b) for te raﬁa%:/;)
‘/(é:. (0)-n*Alp) +UE, ()

One mnst Voin tapunde s el and tmspiiriny puc o 666,

A L. L}:{; i E” Hor ‘/uflg(ce_ Ward - s P ew fer (.(7}?6))

dernod 4. Proble 3 alowe. The Proadure 11 Aasbi forumd but frdical

For GmavmaTion o powen , We need onby faden He 7- lomprrint o LSO

i

. -3” " A " =P, e —
j,,\-l&g'A,QQh.,/ Wplt.uq.,d; Mﬁa&"’b’ &LJ—AM;%’M&M(QEX‘I)X?



Mansuripur
Text Box
3/5


|

4/5

No. 937 811E
Engineer's Computation Pad

3 STAEDTLER®

)

Also, th poves .eMIz_oLv-j o i brd mesliim rmiiatdoe sl d a1 §=0)

I £ () -ncz/&-l-z'ﬁ-l

2E,

&
n, A6 I = '
o-detl [H, : ]]u-n,:l (B + [ver] 15112} Ruf/é'fm-”f’-‘fﬁ)
[ € -ntsiel

g?’ Hee b 3 e Mh. We Cas &Jn.z“} (414 K ,6.:5,(,6:,,3‘ Mﬂf/(ﬁ,r{?d/ NM’J/

<§§ (E)f)>[ = -é-‘i {(!+2§f&)l&'x)?'+l£,/2} nG.# < Tn et btanm
<5‘3’(Ffe)>] = +Z'i{(l+ﬁf@)lr;,f'lfxll+ h'slzlf:}lz} NGO & Reflected bus
< 5:0 o

e may) Ysen l/bu&? e L’LMMM {PQW‘-"\ Fm P- and f- ﬁd/a/’ “Zecf

Coponenls +f, e bram puppuh . by lorforminy He fellwg ﬁ,«m

[ €cor=nPrte|
R P-Polarzaboom

2
(l-—‘l’}lz)ﬂoﬁn&:‘]l-ﬂ;] Re(@w-nc',ac @.-) é—!—palaﬁ'zaéb-n

{ (148 £) O =101")n, Gr & =(l+ (Tt )/'”I Re (V € wr-n

j”" CJL{V‘L ﬁ‘j&'wﬁ  We PM‘M—‘- W Ma‘w‘- ;LW1 . ‘/:',;/' ﬂq f—-f:iﬁ’f;,}‘ﬁ/
| .£5i1-MJ o P2 P Pelarized Lgit.

i, €hp (-2, 7" 7 ) = exp (- 24, :r"j)-.-i at §=0 « Tht Nemasniony

<

Ez‘— ({E9I+!E;Il)o- )""'M?é). w«ﬁ* (,E | ""(Er'fl -f-’EZ{ )(d- x+5111)‘
Thewfor '
(ug'(ﬁ’f)>/ i ,'?7‘4-’6:;!2)63': <— TrMmZE/ bhesrm
J=0
== L (Ie g1 gt 4 15 R ewonale)
Zalte 2 o
:———-{IH— ) IE| + |1+ IETI “ i e l'+?} f&;!z}i?e(/éﬁ;l-ﬂfe)

-



Mansuripur
Text Box
4/5


l ‘
|_

5/5

—

Engineer's Computation Pad

No. 937 811E

? STAEDTLER"

)

| T) The Choe s §-polarize) Lislts

b ¢ = 1n a2 £ S
( Imfmeﬂ yes '12’4”2‘9,)"14452: ’4_"'1,&«&? VE-n A% }&E

3 éwél-f-m' Ch 8 +VE -n202%

= (‘m,, 4@ ReVE-n?N2p )q.a;& = a/nfg,.%. 2VE-n DY adl

T) The Cane o P- polarized L5t :

I”;VF-MZA;’&- +ezao| 2/ e |€—qz.ﬂf€| N VE-n AT + 58

{,n/g_ 24__14*541.5, ln Ve-n'als - s@.‘,‘} Ne -(I )’2'1 /—_é-nxi.&’d
[é n/LM

= 4N, 5.6 Re(£7VE-n* ‘&)M /)/(le nZrlel+ niaka) Re(Ve-ninie)

:%> é IMI»‘£""7¢A~£

= |e-nZAls| 4 njnle

Rel/é 4.
Im(/é- 2420 ]é—n Al | = (6e-nlAe)
RLVE—MZQAZE?' €r

r

(P '
| Lof E-nPato - (6-nals) s iey = AC - The dhne eppsZior Lim tom

T .. ————— T T

2,2 2,12 ¥ Z
9) Lt=8)=0 =, I/Efw-nf,aﬁﬁs = Cte) Gy = N (M= AB) =0

=?*nz 2? -ntties) =nt ;»nztuaf&g)-nf&j%:n“/ncz Qm

—_————
|
|

: |
:>}1n,ew? | e e Ve-niais | {neb = (2n,608) Re(Ve-niaid)

Ve-nrle - z 7 2 Vla/&nf_‘ _con %
(,{_ lnp & na/l'-& é&gl )nc _(r+ Ne A (S )/4+ A g G__[&V/———

= Re {{GR— U'ér )[R,,_Vé' 2l 40" Tm e-nZtata J} = (, €- fJ:'/LC el + nnzﬁ;z&] Re \/5_:',2

A AAed g 20 2o el
VA Lty AN S PV X L /A



Mansuripur
Text Box
5/5




